
MATHS

BOOKS - RD SHARMA MATHS

(HINGLISH)

LINEAR EQUATIONS IN ONE VARIABLE

All Questions

1. Write the L.H.S and the R.H.S of each of the

following equations:
 
 (ii) x − 3 = 5

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pMB5f7YXZnl7


Watch Video Solution

3x = 15 − 2x

2. Write the L.H.S and the R.H.S of each of the

following equations:
 
 (ii) 

Watch Video Solution

3x = 21

3x − 4y = 9 + x

3. Verify that 
 is the solution of the

equation 

x = 3

2x − 3 = 3.

https://dl.doubtnut.com/l/_pMB5f7YXZnl7
https://dl.doubtnut.com/l/_UbxoRYJ05VVV
https://dl.doubtnut.com/l/_wxDlileLFsQM


Watch Video Solution

4. Verify that 
 is the solution of the

equation 

Watch Video Solution

y = 9

+ 5 = 8.
y

3

5. Solve the following equations by the trial-

and-error method:
 
 (ii) 

Watch Video Solution

x + 7 = 10

x − 15 = 20

https://dl.doubtnut.com/l/_wxDlileLFsQM
https://dl.doubtnut.com/l/_pNiDCjuU4kC1
https://dl.doubtnut.com/l/_lAEgHuv1rrso


6. Solve the following equations by the trial-

and-error method:
 
(ii) 

Watch Video Solution

5x = 30 = 9
x

8

7. Solve the following equations by the trial-

and-error method:
 
 (ii) 

Watch Video Solution

3x + 4 = 5x − 4

+ 8 = 11
x

3

https://dl.doubtnut.com/l/_lAEgHuv1rrso
https://dl.doubtnut.com/l/_jqkgSEgNKknu
https://dl.doubtnut.com/l/_T45e3KkEACYs
https://dl.doubtnut.com/l/_6tJybakZ3k7J


8. Verify by substitution that:
 
is the root

of 
 
 is the root of 

Watch Video Solution

x = 4

3x − 5 = 7 x = 3

5 + 3x = 14

9. Verify by substitution that:
 
is the root

of 
 
 is the root of 

Watch Video Solution

x = 2

3x − 2 = 8x − 12 x = 4

= 6
3x

2

https://dl.doubtnut.com/l/_6tJybakZ3k7J
https://dl.doubtnut.com/l/_iSZHHdNz7QMo


10. Show that 
 is the root of 


 and
 
 is the root of 

Watch Video Solution

y = 2

y − 3 = 2y − 5 x = 8

x + 7 = 11
1

2

11. Solve each of the following equations by

trial-and-error method:
 
 (ii) 

Watch Video Solution

x + 3 = 12

x − 7 = 10

https://dl.doubtnut.com/l/_f9kxgM45IPzs
https://dl.doubtnut.com/l/_oNssC7wnMdYB
https://dl.doubtnut.com/l/_UXODQvS4FTUG


12. Solve each of the following equations by

trial-and-error method:
 
 (ii) 

Watch Video Solution

4x = 28

+ 7 = 11
x

2

13. Solve each of the following equations by

trial-and-error method:
 
 (ii) 

Watch Video Solution

2x + 4 = 3x

= 12
x

4

https://dl.doubtnut.com/l/_UXODQvS4FTUG
https://dl.doubtnut.com/l/_g7oz5h5SK7RQ
https://dl.doubtnut.com/l/_SCtHqekq1x3C


14. Solve each of the following equations by

trial-and-error method:
 
(ii) 

Watch Video Solution

= 3
15

x
= 20

x

18

15. Solve the equation 
 and check

the result.

Watch Video Solution

x − 3 = 5

16. Solve the equation 
and check

the result.

x − 7 = − 2

https://dl.doubtnut.com/l/_SCtHqekq1x3C
https://dl.doubtnut.com/l/_fGtjUK0w5I79
https://dl.doubtnut.com/l/_647M9lGSzGZT


Watch Video Solution

17. Solve the equation 
 and check

the result.

Watch Video Solution

x + 7 = 5

18. Solve the equation 
and check

the result.

Watch Video Solution

x + 4 = − 2

https://dl.doubtnut.com/l/_647M9lGSzGZT
https://dl.doubtnut.com/l/_lOlz9rZPKSu6
https://dl.doubtnut.com/l/_8OoltfwEBK3u
https://dl.doubtnut.com/l/_DDPYnIp2K8Jm


19. Solve the equation 
and check the

result.

Watch Video Solution

= 48
y

12

20. Solve the equation 
and verify the

result.

Watch Video Solution

15x = 21

https://dl.doubtnut.com/l/_DDPYnIp2K8Jm
https://dl.doubtnut.com/l/_7frTffBdE22N


21. Solve the equation 
and check the

result.

Watch Video Solution

= 18
2

3x

22. Solve the equation 
and check

the result.

Watch Video Solution

3x + 2 = 11

https://dl.doubtnut.com/l/_GbYR1qqQTEzF
https://dl.doubtnut.com/l/_uYkFNxn2it9d


23. Solve the equation 
and check

the result.

Watch Video Solution

2x − = 3
1

2

24. Solve the equation 
 and

check the result.

Watch Video Solution

3(x + 6) = 21

https://dl.doubtnut.com/l/_LhN6vkuGZxaJ
https://dl.doubtnut.com/l/_K9PNhZBmTjMC


25. Solve the equation


 and verify the

result.

Watch Video Solution

16(3x − 5) − 10(4x − 8) = 40

26. Solve each of the following equation and

check your answers:
 
2. 

Watch Video Solution

x − 3 = 5 x + 9 = 13

https://dl.doubtnut.com/l/_OHwUY8gV2Pvy
https://dl.doubtnut.com/l/_hHwTzDo3U6o6


27. Solve each of the following equation and

check your answers:
 
2. 

Watch Video Solution

x − =
3

5

7

5
3x = 0

28. Solve each of the following equation and

check your answers:
 
2. 

Watch Video Solution

= 0
x

2
x − =

1

3

2

3

https://dl.doubtnut.com/l/_HPCj8xhe04QC
https://dl.doubtnut.com/l/_9uPGpRYXdLL9


29. Solve each of the following equation and

check your answers:
 
 2. 

Watch Video Solution

x + =
1

2

7

2

10 − y = 6

30. Solve each of the following equation and

check your answers:
 
 2. 

Watch Video Solution

7 + 4y = − 5

− x =
4

5

3

5

https://dl.doubtnut.com/l/_JJHOhOOVDNDi
https://dl.doubtnut.com/l/_4PlvdD45Lfjr
https://dl.doubtnut.com/l/_uvxde5GeMLJ4


31. Solve each of the following equation and

check your answers:
 (i) 
 (ii) 

Watch Video Solution

2y − =   −
1

2

1

3

14 = − 8
7x

10

32. Solve each of the following equation and

check your answers:
 
2. 

Watch Video Solution

3(x + 2) = 15 =
x

4

7

8

https://dl.doubtnut.com/l/_uvxde5GeMLJ4
https://dl.doubtnut.com/l/_VrfT9VheH9pM


33. Solve each of the following equation and

check your answers:

 .  


 . 

Watch Video Solution

1 − 2x = 0
1

3

2 3(x + 6) = 24

34. Solve each of the following equation and

check your answers:


Watch Video Solution

3(x + 2) − 2(x − 1) = 7

8(2x − 5) − 6(3x − 7) = 1

https://dl.doubtnut.com/l/_TohFG5skrVzM
https://dl.doubtnut.com/l/_GLpGEsDf8xbo


35. Solve each of the following equation and

check your answers:

Watch Video Solution

6(1 − 4x) + 7(2 + 5x) = 53

5(2 − 3x) − 17(2x − 5) = 16

36. Solve each of the following equation and

check your answers:
 
 2. 

Watch Video Solution

− 2 = − 1
x − 3

5

5(x − 2) + 3(x + 1) = 25

https://dl.doubtnut.com/l/_GLpGEsDf8xbo
https://dl.doubtnut.com/l/_lJDQuYeE68ok
https://dl.doubtnut.com/l/_ca5VOry4OFjc


37. Solve: 
 and check the

result.

Watch Video Solution

3(x − 1) = 2x − 11

38. Solve: 

and check the result.

Watch Video Solution

3(x + 3) − 2(x − 1) = 5(x − 5)

https://dl.doubtnut.com/l/_ca5VOry4OFjc
https://dl.doubtnut.com/l/_fk5YDDei4oZt
https://dl.doubtnut.com/l/_4zZ1BziBlAur


39. Solve: 

Watch Video Solution

− 1 = + 4
x

2

x

3

40. Solve: 
 and

check the result.

Watch Video Solution

+ 1 = + 2
2x − 1

3

x − 2

3

41. Solve: 

Watch Video Solution

+ = +
3x

10

2x

5

7x

25

29

25

https://dl.doubtnut.com/l/_F0XWCxDyQ09H
https://dl.doubtnut.com/l/_MMMf0wWa7D6Y
https://dl.doubtnut.com/l/_0V5eZAWnZ8ay


42. Solve: 

Watch Video Solution

(x − 5) = 24 + 8x
12

7

43. Solve: 

Watch Video Solution

=
y − 8

3

7 − 4y

7

44. Solve: 

Watch Video Solution

− = 1 −
x − 6

4

x − 4

6

x

10

https://dl.doubtnut.com/l/_0V5eZAWnZ8ay
https://dl.doubtnut.com/l/_i0Fq5jiXwReJ
https://dl.doubtnut.com/l/_iopjDsaUUnlp
https://dl.doubtnut.com/l/_KgYC6GIfMd4A


45. Solve:

Watch Video Solution

(7x − 1) − (2x − ) = x +
3

4

1 − x

2

3

2

46. Solve: 

Watch Video Solution

0. 3x + 0. 4 = 0. 28x + 1. 16

https://dl.doubtnut.com/l/_KgYC6GIfMd4A
https://dl.doubtnut.com/l/_qsYVmNPop5Ki
https://dl.doubtnut.com/l/_VwtIYZNHgXwn


47. Solve each of the following equation. Also,

verify the result in each
 case.


 2. 

Watch Video Solution

6x + 5 = 2x + 17

2(5x − 3) − 3(2x − 1) = 9

48. Solve each of the following equation. Also,

verify the result in each
 case.
 
 2. 

Watch Video Solution

= + 1
x

2

x

3

+ = − 1
x

2

3

2

2x

5

https://dl.doubtnut.com/l/_EX5z7XYf9TZt
https://dl.doubtnut.com/l/_ojunjPI3Wffu


49. Solve each of the following equation. Also,

verify the result in each
 case.


2. 

Watch Video Solution

(x − 1) = x − 3
3

4
3(x − 3) = 5(2x + 1)

50. Solve each of the following equation. Also,

verify the result in each
 case.

Watch Video Solution

3x − 2(2x − 5) = 2(x + 3) − 8

x − − = 3 +
x

4

1

2

x

4

https://dl.doubtnut.com/l/_ojunjPI3Wffu
https://dl.doubtnut.com/l/_YRVyr71IKNGW
https://dl.doubtnut.com/l/_qPUwFFfe9i3o


51. Solve each of the following equation. Also,

verify the result in each
 case.


 2. 

Watch Video Solution

+ =
6x − 2

9

3x + 5

18

1

3

m − = 1 −
m − 1

2

m − 2

3

52. Solve each of the following equation. Also,

verify the result in each
case.


1. − = 1
(5x − 1)

3

(2x − 2)

3

https://dl.doubtnut.com/l/_qPUwFFfe9i3o
https://dl.doubtnut.com/l/_z8p0ywMz4nK3
https://dl.doubtnut.com/l/_ynUalO4CxJpw


2. 



Watch Video Solution

0. 6x + = 0. 28x + 1. 16
4

5

3. 0. 5x + = 0. 25x + 7
x

3

53. 5 added to a number gives 9. Find the

number.

Watch Video Solution

54. If 7 is subtracted from five times a number,

the result if 63. Find the
number

https://dl.doubtnut.com/l/_ynUalO4CxJpw
https://dl.doubtnut.com/l/_B20uIIhobhMb
https://dl.doubtnut.com/l/_BoLplRkQf54N


Watch Video Solution

55. What is the number which when multiplied

by 20 gives the product 60?

Watch Video Solution

56. Find the number which when divided by 9

gives 4.

Watch Video Solution

https://dl.doubtnut.com/l/_BoLplRkQf54N
https://dl.doubtnut.com/l/_PQwtkQqSCiox
https://dl.doubtnut.com/l/_PsUPPMnPvL2t
https://dl.doubtnut.com/l/_Ly2lUeQxeiAM


57. The sum of two consecutive numbers is 53.

Find the numbers.

Watch Video Solution

58. The sum of two consecutive even numbers

is 86. Find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_Ly2lUeQxeiAM
https://dl.doubtnut.com/l/_6N4gBitkuePa


59. The sum of two consecutive odd numbers

is 68. Find the numbers.

Watch Video Solution

60. Find two numbers such that one of them

exceeds the other by 9 and their
sum is 81.

Watch Video Solution

https://dl.doubtnut.com/l/_w84pjJ4oO5lI
https://dl.doubtnut.com/l/_rKxguVs8SXtl


61. Find a number which when multiplied by 5

is increased by 80.

Watch Video Solution

62. The sum of ages of father and his son is 75

years. If the age of the
son is 25 years, find the

age of the father.

Watch Video Solution

https://dl.doubtnut.com/l/_cChiFvYD76tT
https://dl.doubtnut.com/l/_bX4OVTeZ2A9b


63. Rahim’s father is three times as old as

Rahim. If sum of their ages is
 56 years, find

their ages.

Watch Video Solution

64. Mona’s father is thrice as old as Mona.

After 12 years he will be just
 twice his

daughter. Find their present ages.

Watch Video Solution

https://dl.doubtnut.com/l/_7mzDKtYSGfQv
https://dl.doubtnut.com/l/_jTBMj07D8wif
https://dl.doubtnut.com/l/_jlmXkwdqCbrM


65. A sum of Rs. 8400 is made up of 50 20 10

and 5 rupee notes. The number of 10 rupee

notes is five times the number of 5 rupee

notes four times the number of 20 rupee

notes and ten times the number of 50 rupee

notes. What is the number of notes in each

denominator ?

Watch Video Solution

66. Ravish owns a plot of rectangular shape.

He has fenced it with a wire
 of length 750 m.

https://dl.doubtnut.com/l/_jlmXkwdqCbrM
https://dl.doubtnut.com/l/_8GlTpr0UsI2F


The length of the plot exceeds the breadth by

5 m. Find the
length and breadth of the plot.

Watch Video Solution

67. Sara’s mother is three times as old as Sara

and four times as old as
 Sara’s sister, Ann is

three years younger than Sara. How old are

Sara, Ann
and their mother?

Watch Video Solution

https://dl.doubtnut.com/l/_8GlTpr0UsI2F
https://dl.doubtnut.com/l/_6xpwStQCFSzW


68. If 5 is subtracted from three times a

number, the result is 16. Find
the number.

Watch Video Solution

69. Find the number which when multiplied by

7 is increased by 78.

Watch Video Solution

https://dl.doubtnut.com/l/_PoBETPf1zhQE
https://dl.doubtnut.com/l/_hMXYWQNhNqfj


70. Find three consecutive natural numbers

such that the sum of the first
and second is 15

more than the third.

Watch Video Solution

71. The difference between two numbers is 7.

Six times the smaller plus the
larger is 77. Find

the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_4HrH7htXZAPx
https://dl.doubtnut.com/l/_DRJHcYMU72OI
https://dl.doubtnut.com/l/_VELjU9q5zIwQ


72. A man says, “I am thinking of a number.

When I divide it by 3 and then
 add 5, my

answer is twice the number I thought of”. Find

the number.

Watch Video Solution

73. If a number is tripled and the result is

increased by 5, we get 50.
Find the number.

Watch Video Solution

https://dl.doubtnut.com/l/_VELjU9q5zIwQ
https://dl.doubtnut.com/l/_JlE8DAWDtPKP
https://dl.doubtnut.com/l/_g4h9Nqz8hSx3


74. Shikha is 3 years younger to her brother

Ravish. If the sum of their
 ages is 37 years,

what are their present ages?

Watch Video Solution

75. Mrs. Jain is 27 years older than her

daughter Nilu. After 8 years she
 will be twice

as old as Nilu. Find their present ages.

Watch Video Solution

https://dl.doubtnut.com/l/_g4h9Nqz8hSx3
https://dl.doubtnut.com/l/_EqfMdc4ihOxs


76. A man is 4 times as old as his son. After 16

years, he will be only
 twice as old as his son.

Find their present ages.

Watch Video Solution

77. The difference in age between a girl and

her younger sister is 4 years.
 The younger

sister in turn is 4 years older than her brother.

The sum of the
ages of the younger sister and

https://dl.doubtnut.com/l/_dmVedFbIH5VO
https://dl.doubtnut.com/l/_e66UKslBxeeQ


her brother is 16. How old are the three

children?

Watch Video Solution

78. One day, during their vacation at a beach

resort, Shelia found twice as
 many sea shells

as Anita and Anita found 5 shells more than

sandy. Together
sandy and Sheila found 16 sea

shells. How many did each of them find?

Watch Video Solution

https://dl.doubtnut.com/l/_e66UKslBxeeQ
https://dl.doubtnut.com/l/_bP88p5gXEDuA
https://dl.doubtnut.com/l/_Vm0lsXIlflkG


79. Andy has twice as many marbles as Pandy,

and Sandy has half as many has
 Andy and

Pandy put together. If Andy has 75 marbles

more than Sandy. How many
 does each of

them have?

Watch Video Solution

80. A bag contains 25 paise and 50 paise coins

whose total value is Rs 30.
 If the number of 25

paise coins is four times that of 50 paise coins,

find
the number of each type of coins.

https://dl.doubtnut.com/l/_Vm0lsXIlflkG
https://dl.doubtnut.com/l/_4x2ykupSqznX


Watch Video Solution

81. The length of a rectangular field is twice its

breadth. If the
 perimeter of the field is 228

metres, find the dimensions of the field.

Watch Video Solution

82. There are only 25 paise coins in a purse.

The value of money in the
 purse is Rs 17.50.

Find the number of coins in the purse.

https://dl.doubtnut.com/l/_4x2ykupSqznX
https://dl.doubtnut.com/l/_aSBUyV36QgJE
https://dl.doubtnut.com/l/_G3ZXpkDpBkCR


Watch Video Solution

83. In a hostel mess, 50 kg rice are consumed

every day. If each student
gets 400 gm of rice

per day, find the number of students who take

meals in
the hostel mess.

Watch Video Solution

84. The zero of 
 is
 
 (b) 
 
 (d) 

Watch Video Solution

3x + 2
2

3

3

2
−

2

3
−3

2

https://dl.doubtnut.com/l/_G3ZXpkDpBkCR
https://dl.doubtnut.com/l/_K3y9hrCtDvmG
https://dl.doubtnut.com/l/_UMEyexo2Ydwr


85. If 
 then 
 
 (b) 


 
(d) 

Watch Video Solution

2x − = 5x + ,
3

2

3

4
x =

3

4

−
3

4

4

3
−

4

3

86. If 
 then 
 3
 (b) 6
 18

(d) 2

Watch Video Solution

− 4 = − 1,
x

2

x

3
x =

https://dl.doubtnut.com/l/_UMEyexo2Ydwr
https://dl.doubtnut.com/l/_A7xf4e8iqyWi
https://dl.doubtnut.com/l/_ZCQplQK1R3tv


87. If 
 
(b) 
 
(d) 

Watch Video Solution

=
x + 2

x − 2

2

3
−10 10

4

3
−

4

3

88. If 
 then 
 (a) 9
 (b)

6
(c) 
(d) 4

Watch Video Solution

+ = + ,
x

6

x

4

x

2

3

4
x =

−9

89. If 
 then 
 3
 (b) 4



(d) 

2x + = x + 4,
5

3

1

4
x =

3

4

4

3

https://dl.doubtnut.com/l/_w5h6ED8vJVXP
https://dl.doubtnut.com/l/_GccJIctENgJk
https://dl.doubtnut.com/l/_hlygweVaK66C


Watch Video Solution

90. If 
 then 
 8
 (b) 16
 24
 (d)

30

Watch Video Solution

− = 5,
x

2

x

3
x =

91. If 
 then 
 (a) 2

(b) 4
(c) 6
(d) 8

Watch Video Solution

= − 1,
x − 2

3

2x − 1

3
x =

https://dl.doubtnut.com/l/_hlygweVaK66C
https://dl.doubtnut.com/l/_KC8U0pBS3PvQ
https://dl.doubtnut.com/l/_DKOrQk0Qkh1h
https://dl.doubtnut.com/l/_THKybTMGpPRb


92. The sum of two consecutive whole

numbers is 43. The smaller number is

21                                                                        
 (b) 22

23                                    
(d) 24

Watch Video Solution

93. The sum of two consecutive odd number is

36. The larger number is
17                                  

(b) 15
19                                  
(d) 21

Watch Video Solution

https://dl.doubtnut.com/l/_THKybTMGpPRb
https://dl.doubtnut.com/l/_U7BMew4n2hih


94. Twice a number when increased by 7 gives

25. The number is
7                                    (b) 9

10                                 
(d) 8

Watch Video Solution

95. The leng th of a rectangle is three times its

width and its perimeter
 56m. The length is 7

m                                                              
 (b) 14 m
 21

m                             
(d) 28 m

Watch Video Solution

https://dl.doubtnut.com/l/_rMfpdJqUP4mV
https://dl.doubtnut.com/l/_c0LpHumMZIgM


96. Two-thirds of a number is greater than

one-third of the number by 5.
 The number is

10                                                                    
 (b) 5

15                                  
(d) 12

Watch Video Solution

97. If the sum of a number and its two-fifth is

70. The number is
70                                  
(b)

50
60                                  
(d) 90

Watch Video Solution

https://dl.doubtnut.com/l/_c0LpHumMZIgM
https://dl.doubtnut.com/l/_XG31jp3yg9jY
https://dl.doubtnut.com/l/_ydXO38u7WsUm


98. 
 of a number is less than the original

number by 20. The number is
30
 (b) 40
 50
 (d)

60

Watch Video Solution

2

3

99. A number is as much greater than 31 as it

is less than 91. The number
 is

46                                                                      
 (b) 56

66                                   
(d) 76

https://dl.doubtnut.com/l/_ydXO38u7WsUm
https://dl.doubtnut.com/l/_efWYKR8ADrty
https://dl.doubtnut.com/l/_ECYT9HIEd4uR


Watch Video Solution

100. Two complementary angles differ by 

The smaller angle is
 
(b) 
 
(d) 

Watch Video Solution

200.

550 250 650 350

101. Two supplementary angles differ by 

The measure of the larger angle is
 
 (b) 


(d) 

Watch Video Solution

400.

700 800

1100 1000

https://dl.doubtnut.com/l/_ECYT9HIEd4uR
https://dl.doubtnut.com/l/_R1CbW6Z5h2pn
https://dl.doubtnut.com/l/_FQiUaFiUWcqi


102. The sum of three consecutive odd number

is 81. The middle number is

25                                                                          
 (b) 27

31                                     
(d) 29

Watch Video Solution

103. If 
 then 
 5

(b) 3
7
(d) 8

Watch Video Solution

2(2n + 5) = 3 (3n − 10), n =

https://dl.doubtnut.com/l/_OiKgeQCW3ZRk
https://dl.doubtnut.com/l/_rcDjx0um1wMX

